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QUESTION 1
Choose the correct answer.

Given the following diagram fragment:

— —

2 _____:-—" _\_-\--""\-\.
{: Initiate P m..:n;)

—— —

Initiator

What does the multiplicity at the actor end mean?

A. At most two Initiator actor instances can perform the use case

B. Two Initiator actor instances are required to trigger the use case

C. Two Initiator actor instances are required to participate in the use case.
D. Multiplicities carry no meaning on use case diagrams

Correct Answer: C

QUESTION 2

Choose the correct answer. Given the following bdd:

haddd [Block] Made [Caasstion] J

Ethsermist Proaduces
Inkerface bedp
Con s e Mussage
Cornim irmcation
Inlarmal
Inkerface

Which Ibd corresponds?
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il [Block] Me ssage Comronics o n [Snswer ]
cl‘lhlr:l-ra- 1:|:|l|||:|-:'b
Froducer; Mods Consumer Mode
Efherret Tmeace Ethernet Link Efherme Terace
internet Inteface | Intermet Link [intermet interfacs
B. =
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r ! r |
1 i i
: TEthernet Intarisnn = : Ethernet Link i Ethrreet Irdes e i
i 1 i i
i i i i
: Arternet Inlertul:e’_'i : Intarmet Link : | Interrist Intsrfacs :
A AT SR — : A ;
C. ikd [Block] Me ssage Communication [Answer] l
chlocks ehlocks
FProducarn Mode ‘Eibeimet oy — Consumer: Mode
Lﬂ:rﬂaﬂiﬂa Bk wsrat Lifk II‘HBH‘EEEL:}
Intarnat Link iz
JIrk ernet St ermet
Int=rface Irtertace
D.
ik [Block] Message Communication [Answer] J
i I i I
| 1 i 1
i i
i : (Ethemet Efleerreet | :
: cblocks o Ethemet Link Immmla-::- cblocks :
: Producer, Mode | 1 Consurmer Mode :
] i i i
1 Irtermet Link i
i = I-u:_,-
| i cirfernet et 1 :
e e TRl g g S D T e G < rit=rfacs = T o R e A TR s i
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 3
Choose the correct answer

Which diagram fragment validly depicts adding properties to a stereotype?

A

wirhlaC] akhs s
Classifior

—

PrIrTEv e =
Configurod Classificr

|s undar Ch : Bookaan
cremmiesr | SArENG

LT S T

last update - Date

= MealaClasss

Classifior

T

T ILITS Chas s e
Configured Block

last up=date - Dale

srsiaclasse
Clasaifior

T

s EEnraoiypes
Caonfigured Block

o iiguresd clos e e
I= umnder O - Bocdssan
arrer ¢ Slreeg
N T | IR
lavest wgsciane - Durtes

wirselaclang =

Classifior

T

SNy
Configured Block

woorfiguned classiwers
B wndler G Boobsan
mamer : Siring
version | Inlsger
st update - Dalo

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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QUESTION 4

Choose the correct answer. Given the following ibd fragment:

- |
H =
1

&

Select the bdd fragment that corresponds
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C !
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i
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------------------------------------ |
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------- = - | '
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________________ : ' l
[ = | ; |
__________________________ ‘
]
------------------------------------- |
D.
amierfacas intarfaces cinterfacas cinterfaces
12 " |4 13
0Ly ' ¥ 'EI-— [ R '_"2"}__
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i : 0
1 . i
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 5

Choose the correct answer.
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To "show what you know" about SysML a Systems Engineer (SE) must take a total of four examinations in order Model
User (MU). Model Bulkier Fundamental (MBF), Model Builder intermediate (MBI> and Model Builder Advanced (MBA).
The SE must also study before taking each exam.

Which activity diagram fragment correctly uses object state constraints to document the process of studying and taking
the exams, ensuring that the exams are taken in order of increasing difficulty, and allowing for the possibility that exams
may have to be repeated?

A
SEiIn
( Siudy
SE oul 5
SE in
e Malhe —
} e o = Take MU Exam
[passedMU] EEEI:'"
(=R
= Taka MBF Exam
AT SE in
Ll L "'“I I Take MBI Exmm
=E i
IpassadMEl] i
SE finished
[passedMBA]
B. Systems
Enginesar
fp=0

i
. -
Study =
e
i
[Did Mot Pass]
Saearie = Take Exam

T
| [Passed and p<2]

1 /p=p+1
Exam|l]="Mode| Liser }:
Exam[1]="MB Fundameantal™
Exam[Z}="MB Intermediats” [Passed and p==3]

Exam[3]="MB Advanced”

)
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1
]
I
i
]
1
i
[
i
1
I
i
]
i
i

I
[passedMBA]I
I

®

D =
i [passedNothing] )_( S )
| IpassedMul { e AR it )_
ipassedMBF] ‘_;f Tk MBT B
.
lpassedMBl " o ina Exam
= [passad MBI
[passadMBA]
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B
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